Instruction Manual

PJ-CIV50WCINC]

1.  Safety Instructions

The device is not recommended to be placed on low thermal conductive surface. For
example, plastics.

For safety reasons, please ensure the mounted device is kept at > 4mm safety distance at
all sides from other components and equipments (Refer to Fig. 2). Please insert an
insulation sheet between the system and product, if the safety distance is < 4mm.

Note that the enclosure of the device can become very hot depending on the ambient
temperature and load of the power supply. Do not touch the device while it is in operation
or immediately after power is turned OFF. Risk of burning!

Do not touch the terminals while power is being supplied. Risk of electric shock.

Prevent any foreign metal, particles or conductors from entering the device through the
openings during installation. It may cause: - Electric shock; Safety Hazard; Fire; Product
failure.

Warning: The power supply must be mounted by metal screws onto a grounded metal
surface. It is highly recommended that the Earth terminal on the connector be connected
to the grounded metal surface.

For Open Frame type of installation, ensure the power supply’s Protective Earthing
(Marked “PE” in Fig. 1) point is connected to the system’s Protective Earthing (PE). It is

also recommended that the input FG (Fig. 1 location @) be connected to the system’s PE.

PJ-C0V50WCNA: Enclosed (with cover and chassis)

2. Device Descriptions
Refer to Fig. 1.:

3-93.5

4-M3*0.5

7

[MOUNTING HOLE

MOUNTING HOLE\

2-¢3.5

-

Input terminal block connector
@ Output terminal block connector
@ DC voltage adjustment potentiometer

3. Installation of the Device
Refer to Fig. 1.:

Mounting holes for the Enclosed type of power supply (device). The device shall be
mounted on minimum of 3 mounting holes using M3 screw of minimum 5mm length.
Recommended mounting torque for tightening: 4~8Kgf.cm. For the other mounting
holes without screw threads, please use suitable screw and nut.

Mounting holes for the Open Frame type of power supply (device). The device shall
be mounted on minimum of 4 mounting holes using M3 screw of minimum 5mm
length. Recommended mounting torque for tightening: 4~8Kgf.cm.

This surface belongs to customer’s end system or panel where the device is mounted.

Use flexible cable (stranded or solid) of AWG No. 22-18. Please refer to Table 1 for the
recommended Housing and Terminal.

PJ-COV50WLNA: L Frame (without cover)

3-93.5

@ 4-M3*0.5
/MDUNTING HOLE — MOUNTING HOLE\

$3.5

MOUNTING HOLE; ®

PE: MUST CONNECT WITH
SYSTEM_PROTECTIVE EARTHING

3-93.5
MOUNTING HOLE

Fig. 1: Device Descriptions

<

TOP SIDE

FRONT SIDE

Table 1: Connector (Board Mounting) Housing Terminal
Input - -

nput (JST) B3P5-VH(LF)(SN) VHR-5N SVH-21T-P1.1
Output (JST) B4P-VH(LF)(SN) VHR-4N

CN1+] ﬂ

PSU

CN1+

|

PSU

l

|ot

D1 =4mm

D2 = 8mm (For Open Frame type)

Fig. 2: Assembly Reference

www.DeltaPSU.com




KEZE/D 5mm iy M3 B2 8 A /D = AEEFL o BINE B R 2 A
4~8Kgf.cm o FFSFFFLIEAAYEE FL - 1EHEHECE FH ERIEE 2 AT -
NSRRI s FEAEE S SR T R, KRN e AL R
NEZF K RE /> Smm (1] M3 SR 228N F /0 PUAS [ 5 AL . B ] R 2 AT
4 4~8Kgf.cm -

I B R 12 P e

o HIZRAYIEITEIfEA AWG No. 22-18 - Zi¥{#i > Housing and Terminal (&Z&—) -

ER—: Connector (Board Mounting) Housing Terminal
Input (JST) B3P5-VH(LF)(SN) VHR-5N
Output (JST) B4P-VH(LF)(SN) VHR-4N SVH-21T-P1.1

RS L PJ-CV50WCIND]
. " 1. ZeLONE
o BRI EA RGBT | W - o AR EREEE (.75 AF v 7) CREFSI L RBITRS -
o RPERIEESEAIE  FERE IS AT R E D dmm A9EEE L e AL o REEERAHTEC  MBEORE - WERETOBT - MOMBOBES 54T
(BB ) « UPEEEEIAE] 4mm 0F + 5T 2 AT 5 I H - amm Bl ED7 A TR L T RS (12588 - %72 - 4mm DLz 28k
o CZHBERE RSB AN SRS RILAE LR ST RS DR T Z 20 S~ MR L SR A AT 2 BB ORI L4 — N A AT RS »
B A R SR AHL - LA (5 - o EEREOEEEES L « EERECTEROEHIC L > CREIIERICEC 45 2
o LR BT » DA - LB ETOTERL TS « B0 7 — & 4 712 U B LS
o TR RS AR SR S B SR AL ASI G - B CHEBROTTRS - (0 E | OBEASD D X -
ETFIRR - o EREBEE - 5 —IF LS AT TS - TR, OROAH D LT -
— i R EE KK PR o EBETMIAMIC  SEE SEEED BYAEEOBOE A S A DA E L L D
o PN ARG Y BRI S RIEL BN FREE - MEEEST S CLTTFEG - 29 LRI - Bl DU Y KHEORBOMMAS X B T2
AT HUR M ERE - I S AR - AE R e L B, - iibégz;ﬁwé?i o a L e
SETHRIE SN - 2 - RERRIS Y B (R PEY) S R © B REmAoRE - aROY L [ ASHUE SR AT
R BEHLERE - R AR T (E— 8 (D) RS SR LA, DLy T TR RIS ATRET  E TR
2. PERININE EMRBA =7V 7 L— L9 A7 DEREHUTT 25611 - M1 T PE L#ian
i FBRDT — A% ~ MHEBREO7 — A (PE) CUFHEL TT S0 - £/ - [
@ WAEET 1@ DA FG & EEMD 7 — AL BET S L & BRHL £7 -
@ i EREN T 2. RS LR
@ HEFHEETRAE 1254
AT Oy 728 s —
3. FREEAR % HIF7 oy 7 a1y 9 —
fcHERE— ) 4 ) & Dol <
A BIESAEE RN - R EETL -
® W - R ST R TSR « S -

120

= AT S ENBIEIE (B DHUT IF/XT 3 - 88 M3 o AP 2L ~
K Smm DZES £ T 3 7 AL EDINEEEL TS » RS 24T b
)L 71L 4~8Kgf.cm T o ZDfth 4 P OfEGHTIT /NI ~ ThiCE AP e
FYPTEDTFS -

=7 VTV =LY A THARENE () DHUTTIXT T - #38E M3 D %
CHEMEAL ~ K 5mm DES T4 i EDOREBEEL TFE W - fEdES
N2 bV 7 1% 4~8Kgf.em TF -

COHEF ~ HBEIMDF T2 BEROEE LI ANVERLTRET -

e AWGNO.22-18 D7 L FYTN7r—7 N (ANTVT Y FEldv )y K8 47)
EIHEHAT SV - HEREANY DY 7 emTETRR I 22/ T S -

E S T2 7 9 —(K— F#&#K) WENYIVT W F
AJI (JST) B3P5-VH(LF)(SN) VHR-5N
i (IS B4P-VH(LF)(SN) VHR-4N SVH-21T-P1.1

www.DeltaPSU.com



